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Comments; 
1. The questions were set like these that suboptimal operation efficiency, employee 

proficiency, and decline in net income, how would you connect the partnership and 
IJK & LMN, as seen on the slide “problems, questions and objectives” until you have 
developed the gap analysis # 1 to 4? 
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2. In what way are you selecting or choosing number 1 to 5 in gap analysis # 1? 

a. # 1: Insufficient product readiness? 
b. # 2: More reliant on partnership than independent, focusing on product operation 

vs development? 
c. # 3: More partnership methods focusing more on internal than external  
d. # 4: Each directorate uses different tool resulting unsynchronized data 
e. # 5: Once the product is ready, it is not integrated with ABC enabler in the DEF & 

ABC division 
  
3. This is about gap # 2; 

a. What do they do in controlling the operation in daily business due to they 
are do not match? 

b. I was just wondering what is the “external trends and demands due to inward 
focus”? 
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4. This is about gap # 3, you are saying “disjointed process complicate product launches and 

reduce market effectiveness”, but what do you mean by the “disjoint”, and you are 
actually creating “data silos toward inefficiency in decision-making and 
collaboration” 

 
  
5. You stated in gap # 4 about the 3 models; service operator, service enablers and 

service bundler.  
a. What are the difference and similarities of them all?  
b. Do you think that the gaps we are trying the achieve are 3 different kinds 

of merchandise that service operator cannot do service enabler of service 
bundler? 
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6. This Root Caused Analysis stated that insufficient collaboration, ineffective 

methodologies, data silos, integration challenges and training deficiencies, what are 
those elements? 
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Comments: 
1. In your abstract, you indicated that the deliverables including process inefficiency, 

employee proficiency challenges & strategic recommendation report with 
actionable improvement proposal, how would encounter those answers in about 7 
weeks? 

 
2. Based on your problems, questions and objectives (on the slides 8) 

a. What is it that you are looking for “suboptimal operation efficiency”? Is there a 
guideline for the industry? Is it taking for a long time to do this, for example, a 
maximum of within a couple of day? 

b. The “employee proficiency is understanding products” meaning that the 
product is efficient to use and/or improving the employee proficiency in making 
use of the product? 

c. It said that “decline in net income” meaning that it is maintain the stability and 
growth? The decline in net income really based on the financial records, that is 
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recommending and ensuring financial stability and growth, that is ironic. How to 
do those things equally? 
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Comments; 
3. In your abstract, you indicated that the deliverables including process inefficiency, 

employee proficiency challenges & strategic recommendation report with 
actionable improvement proposal, how would encounter those answers in about 7 
weeks? 

 
4. Based on your problems, questions and objectives (on the slides 8) 

a. What is it that you are looking for “suboptimal operation efficiency”? Is there a 
guideline for the industry? Is it taking for a long time to do this, for example, a 
maximum of within a couple of day? 

b. The “employee proficiency is understanding products” meaning that the 
product is efficient to use and/or improving the employee proficiency in making 
use of the product? 

c. It said that “decline in net income” meaning that it is maintain the stability and 
growth? The decline in net income really based on the financial records, that is 
deal with these much later based on the financial statements, but keep 
recommending and ensuring financial stability and growth, that is ironic. How to 
do those things equally? 

  
5. Your project 1 is about Suboptimal Operation Efficiency, these are full with steps from 

challenges, management, account planning, account selling, service delivery and service 
operation. Which one is it to conclude the answers to portray question 1 about 
suboptimal operation efficiency? 
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6. Your project 2 is about Employee Proficiency and these are full steps to do enhance 

support, operational benefits, training programs, ongoing learning, culture of 
improvement and overall success. Which one is it to conclude the answers to portray 
question 2 about employee proficiency? 

 
 
 
7. Your project 3 is about the decline in net income and you have also showing so much 

information. 
a. It is now the history to reveal the declining in net income over 2021 to 2022 

first prior to the 2023. 
b. Then, I wonder if you would and could do this “cost management issues and 

about long-term profitability”? 
i. Is it due to the purchase of new machine that is why the financial 

statement indicating depreciations? 

 
  
8. Your plan about interview and FGD involving 3 General Manager and 3 Manager.  

a. What about the FGD? How much is the respondents for FGD? 
 
9. Why are you using the Root Cause Analysis and Gap Analysis in performing your 

analysis in this proposal? 
a. Is there anything you look for in this root caused analysis? 
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b. Is there anything you look for in gap analysis? 


